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Resolva e classifique os sistemas lineares abaixo: 

1. {

−𝑥 + 𝑦 − 2𝑧 = 1
2𝑥 − 𝑦 + 3𝑡 = 2

𝑥 − 2𝑦 + 𝑧 − 2𝑡 = 0
 

 

 

 

 

 

 

 

 

 

2. {

𝑥 + 3𝑦 + 2𝑧 = 2
3𝑥 + 5𝑦 + 4𝑧 = 4
5𝑥 + 3𝑦 + 𝑧 = 3

 

 

 

 

 

 

 

 

 

 

 

 

 

3. {

𝑥 − 2𝑦 − 3𝑧 = 5
−2𝑥 + 5𝑦 + 2𝑧 = 3
−𝑥 + 3𝑦 − 𝑧 = 2

 

 

 

 

 

 

 

 

 

 

4. {

5𝑥 − 2𝑦 + 3𝑧 = 2
3𝑥 + 𝑦 + 4𝑧 = −1
4𝑥 − 3𝑦 + 𝑧 = 3
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5. {
𝑥 + 2𝑦 − 𝑧 = 0
2𝑥 + 5𝑦 + 𝑧 = 3

 

 

 

 

 

 

 

 

 

 

 

 

6. {

𝑥 + 𝑦 − 𝑧 = 4
2𝑥 − 𝑦 + 𝑧 = −1
4𝑥 + 𝑦 − 𝑧 = 10

 

 

 

 

 

 

 

 

 

 

 

 

 

7. {

𝑥 + 𝑦 + 2𝑧 = 4
𝑥 − 2𝑦 − 𝑧 = −2
3𝑥 − 𝑦 + 2𝑧 = 4

 

 

 

 

 

 

 

 

 

 

 

 

8. {

𝑥 + 2𝑦 + 3𝑧 = 1
2𝑥 + 5𝑦 + 8𝑧 = 3

5𝑥 + 12𝑦 + 19𝑧 = 7
 

 

 

 

 

 

 

 

 

 

 

 

 

Gabarito: 
1. Possível indeterminado 

 (−12 − 13𝛼,−11 − 11𝛼, 𝛼, 5 + 5𝛼) 

2. Impossível 

3. Impossível 

4. Possível indeterminado (−𝛼,−1 − 𝛼, 𝛼) 

5. Possível indeterminado (7𝛼 − 6, 3 − 3𝛼, 𝛼) 

6. Impossível 

7. Possível indeterminado (2 − 𝛼, 2 − 𝛼, 𝛼) 

8. Possível indeterminado (−1 + 𝛼, 1 − 2𝛼, 𝛼)

 


